™

SINGLE STAGE

HIL-1L.1
#81 OO0 O

PLANETARY GEARHEADS

;RS

Model No.

REEEH LIHE
Rated Output Torque

HEMYE Torsional Rigidity
BEHFEM@S Max. Radial Force
BEFEE Max. Axial Force
ZEEH AR Rated Input Speed
BAEAER Max. Input Speed
BAELEIFE Max. Outprt Torque
#FR Backlash PO

&R Backlash P1

#5F Backlash P2

{FFA58D Service Life

WE Efficiency

{FARE Operating Temperature
#88 Lubrication

FHE&E#R Degree of Gearbox Protection
Z4E75@ Mounting Position
ﬂ%ka{ Noise Level

Nm

Nm/arcmin
N
N
rpm
rpm
Nm
arcmin
arcmin
arcmin
hr
%
C

dB

© 0o N O o b~ W

10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10
3~10

.“.',

5B EE t
Umt 62-L1 90-L1 20-L1 150-L1 180-L I

117 1231
16 47 115 276 462 1297
15 39 104 233 421 1139
14 41 115 252 436 1149
13 39 100 235 416 1044
11 31 78 180 330 824
12 85 89 205 383 832
10 29 74 170 314 831
2.3 5 15 45 69 140
750 1,180 3,000 6,500 9,100 14,100
325 590 1,500 3,250 4,550 7,050

2fBZBTEHL DA 2 Times of Ra

3

6

12
20,000
295 %

-10C ~ +90°C

A~ TIA - IIA

3,000 3,000 3,000 2,500 2,000 2,000
6,000 6,000 6,000 5,000 4,000 4,000

ted Output Torque

ESEBB Synthetic ol

IP65
ERSE Any
<62 <62 <65 <68

=70 =75

A3

M

L1

L5

L3

L7

H1

H2

H3

05 @L]

PHL-L1 B8EZFN1T 2 TNBHRME

o W2

D4

E2

| N

Al

OlEET

[E
OIMDIEFH2%EEEL LIHFEPTAIS

BISEHREER AR » LIZEERAEE

ATRIS < 8k -

OEERERR Y BEEELH HFEE ?FTWW’%@T’E@J °

ORRIERBEL CBBRRE

EfTRETEEANTITE

96.5 132 159 209 294 319

37.5 52 59 91 97 132.5

33 41 46.5 52 61 88.5

5 6 8 16 16 20

1 1 2 3 3 4

20 32 435 47 72 82

5 7 9 14 15 16

44 62 90 120 150 180

44 62 90 120 150 180

@58 2835 @119 2161 2186 @240

@58 283.5 @119 161 2186 @240
@34 |24 @50 |00 @70 |50 @110 [2ie 2110 25y @150 (2l
@11 |20 216 |55 @22 |Z0% @28 2w @38 |2|an @48 |20
213 é?m 216 %Tgoz 022 é-?.oz 32 gfgoz @40 gfoo,oz 55 gfgm
@35 o @50 |5 @80 %2 @110 |23, @130 4%, @160 |5 /5%

29 37 47 65.5 65.5 115

8.5 15 16.5 28.5 25.5 36

5 9.5 10.5 19.5 15.5 23

4 5 8 7 10 16

9 12 14.5 19.5 26.5 36
M4*0.7P M4*0.7P M8*1.25P M8*1.25P M8*1.25P M8*1.25P
@4.5 26 o7 @9 211 211
M4*0.7P M5*0.8P M6*1.0P M12*1.75P M16*2.0P M16*2.0P

16 16 20 25 35 35

M3 M4 M6 M8 M10 M12

@46 @70 @100 @145 @145 @200
@50 @70 @100 @130 @165 @215

15 18 24.5 35 43 59

2.5 5 5 4 4 4

15 20 30 40 65 70

5 5 6 10 12 16

Y

N

HAREERE 1 AR > IBRERMABETAS 2808 -
%Q%EE/E%&?B%E@? Al -

OEERERR T EEERLNF/EL R DMENEE) -
ORREEEEU LBUBRREI TR EATITEA




